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Lesson:

So far we have looked at reactions where we assume that we have exactly the right amount of reactants.
e.g. Mg + O ---->  MgO
(how much MgO is produced when 5 g of Mg is burned?  we assume that we have as much oxygen as wee need)

What happens when we have limited amounts of reactants? As soon as one of the reactants runs out the reaction stops (just like an assembly line stopping).  The reactant that runs out first is called the limiting reactant. The other reactant(s) is/are called the excess reactant(s).

Here is the formula for making a car (say a corvette):


4 wheels + 2 doors + 1 body -----> 1 car

How many cars can you make with 17 wheels, 12 doors and 8 bodies?

17 wheels ---> 4 cars

12 doors   ---> 6 cars


Take the smallest number

 8  bodies ---> 8 cars


(assembly line stops after 4 cars)


Two methods:

Method 1: 
1. find the limiting reactant
2. carry out the calculations using the limiting reactant.

How much FeCl3 is made when 20g of Fe reacts with 15g of Cl2 ?


2Fe   +   3Cl2   ---->   2 FeCl3 




choose Fe 

Method 2: 
1. find out how much product the Fe can make
2. find out how much product the Cl2 can make
3. take the lower number.   (just like car example)
the substance that produces the smaller amount of product is the reactant that runs out first and so is the limiting reactant.
Homework: 

Evaluation: 

